= AH O
N = 0 &8 AF S & Al A
2M: RAIS
M FOIME J|Br2 5
Rl FOIMEH 29 WaAS (e
= o = = 1 I|_-|LI;=|_||:_ =
2AH -3 - SH2A(SH) - MEAMY - BHES Ol & oK Oll AF O HusZ
2M1S 152,450 147,150 5,300
FOIME JIgr235t 85,490 83,490 2,000
FOMEH 29 WAS 85,490 83,490 2,000
s -8ty #gs4| XY 69,070 69,070 0
301 YetE A2 69,070 69,070 0
BbE-2-EEsEAs 69,070 69,070 0
Os&Y 200,000& x19H x123| 45,600
(OF=FSPN0: = 200,000 19 %23| 7,600
OS &3 o &AL 20,000 x19H 23| 128 9,120
Oftastsg A2 25,0002 135% x23] 6,750
FOIXXE 2 4,900 4,900 0
201 B2 | 4,500 4,500 0
01 AP 22|l 4,500 4,500 0
OF0IXXIALE slo &AL
15,0002 x25% x 122 4,500
301 LEtB A= 400 400 0
04 XISEHHAS2HH] 400 400 0
OXES2H oFAlHI 400
SASX & Xtk 10,440 8,440 2,000
201 LEtRAHH| 5,440 7,000 21,560
02 3329l 5,440 7,000 A1,560
OdzHl 1,400
OSAAZE R X 1,300
OXt&k« gth| 1,300
ORoHZAY 2| 120,000 «12& 1,440
401 Al S HI L 20| 5,000 0 5,000
01 Al&H] 5,000 0 5,000
OSAHKIBhH 2 L HS2UX3A 5,000
AL 29 1,080 1,080 0
201 LBt AHH| 1,080 1,080 0
02 23294l 1,080 1,080 0
OXlgt &3 90,000& x12& 1,080
HHY2AAH(RA1S) 66,960 63,660 3,300
Jl2& 66,960 63,660 3,300
23| 66,960 63,660 3,300
201 LEt2H| 25,260 25,260 0
01 AR 22| 12,760 12,760 0
Odet=2H| 8,900




SN PAIS

HE: HH2SAU(PNIS)

el Jl=3 (etel: =3
SA-E . S(E) - MEAY - BES 0l & o e SImE=ET
Oo2g=¢ 500
O=&l 7,000& *441«10H x 128 3,360
02 2244 12,500 12,500 0
O=232z= % HA 12,500
202 44| 28,800 28,800 0
01 =2 A bl 28,800 28,800 0
O2 Lol 240,000 10 »12& 28,800
203 R =& 9,600 9,600
01 J|22dPRF=8H 6,600 6,600
OSH(217 32 0/9) 6,600
04 FA2EHRFEH 3,000 3,000
ORNMZBEHEF=AHI 250,000& «12& 3,000
405 XHaHF S 3,300 0
01 MMt =SZH=HI 3,300 0
OUXE Jtoliet + 300, 000 *1CH 300
OSLAIAAEH 1,000,000 *1CH 1,000
OZgd #¢ 500,000& +2CH 1,000
o2 =g 500,000& +2CH 1,000




